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18 #HeEX (1)
Bz

[1] (1) (-3x)° = (-3)* xx* = =27x3 (&)
(2) (=2xy?)% x (=3x%y)? = —8x%y® x 9x*y? = =72x7yB (%)
(3) —4xy°(x% + 2xy — y?) = —4x3y? — 8x2y3 + 4xy* (®&)
“ (@® +3ab + b*)(2a - b) = 2a° — a*b + 6a°b — 3ab* + 2ab* — b°
=2a®+5a*b —ab®> -0 (B

[2] (1) (x+3y)>=x2+6xy+9y> (&)

(2) (4x - 3y)* = 16x2 — 24xy + 9y? (&)
(3) (7x + 5y)(7x — 5y) = 49x? — 25y> &)
@) (2+)Q2+xy) =y -2y +2) =x}y* -4 (&)
G) x-Dx-6)=x>=Tx+6 (&)
(6) (x+3y)(x—y) = x* + 2xy — 3y* (&)
(7) (x +y)2x + 5y) = 2x% + Txy + 5y? (&)
(8) (5x—4y)(3x +2y) = 15x2 — 2xy — 8y €))
(9) (3x — 4y)(5x —2y) = 15x% — 26xy + 8y* (&)

(10) (6x + y)(2x — 3y) = 12x* — 16xy — 3y> (&)

[3] (1) =3x(x—2y—-1) = =3x% + 6xy + 3x (&)
) x-2)(x-3)=x2-5x+6 €))
3) (lx+ )z—lx2+x v
4) (ab - cd)? = a®b* — 2abcd + 2d? &)
(5) (4x — y2)(4x + yz) = 16x% — y*2? (%)

(6) (x—%y)(x+%y)=x2— %xy— %yz (&)
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[4] (1) (a+b)® =a®+3a*b + 3ab® + b3 (&)
() (a—b)® = a® - 3a*b + 3ab* - b® €))
€) (x=3P =X -3x®x3+3xxx3>-3
=x3-0x?+27x-27 (&)

“ BGx+2y)° = GBx)° +3x 32 X2y +3 X 3x x (2y)2 + (2y)°
=27x + 54x%y + 36xy? + 8y° (%)

©) (1_1341_4x1) x
x oy x x y
A B )
—FTErS Sy @

(5] (1) (a+b)a®—ab+b?) =a®+b? (&)
() (a-b)a*+ab+b*)=a>-b3 (%)
B) x+ D —x+D)=x3+1 (&)
@) (x =3y)(x% + 3xy + 9y?) = x3 = 27y° (%)
5) (xy+2)(xy? —xyz+ ) =x3y3 + 2 (%)
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[e] (1) (@+b+cp=(X+c)
=X +2cX+
=(a+b)’ +2ca+b)+?
=da’® +2ab + b* + 2ca + 2bc + *

=a’>+b*+c*+2ab +2bc+2ca (B

@) (a—b+c)?=a®+(=b)?+ 2 +2a(=b) + 2(=b)c + 2ca
=a>+b*+c*-2ab-2bc+2ca (B

3 @+b+1P>+(—a+b+17>+@-b+17>+(@a+b-1)>
=a®+b*+1+2ab+2b+2a+ a*+b>+1—-2ab+2b-2a)
+(a*+b*+1—=2ab-2b+2a)
+(a* + b* + 1 +2ab - 2b - 2a)
=4d’ +4* +4 (B
<>
a+b+1=X B
(5R) = X2+ (X - 2a)° + (X = 2b)* + (X - 2)?
= X2+ X> —daX +4a* + X* —4bX + 4b* + X* —4X + 4
=4X?> —4a+b+ DX +4d> +4b* + 4
= 4X? —4X? + 4a* + 4b° + 4

=4a’> +4b* +4 (D)

(71 () (@+2b -3¢0 = @+ (2b)> + (=3¢)* + 2a(2b) + 2(2b)(=3¢) + 2(=3¢)a
= a* + 4b* + 9¢* + 4ab — 12bc — 6ca (%)

@) (a+3b—2c)a+3b+2c) = (a+3b)? - (2c)?
=a® + 6ab + 90> - 4> (%)

3) (Ba+b—-2c)3a—b+2¢) = (3a+ (b-2c)}{3a — (b - 2c)}
= (3a)* - (b - 2¢)°
= 9a* — (b* — 4bc + 4¢?)
=9a> — b* + 4bc — 4> (%)

(81 (1) x=y+2)x+y-2)={x-Q-2Hx+ (-2}
=X —(y-2)
=x"— (- 2yz+7%)

=x* -y +2y2-2" (%)
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2 (2= 2x+2)(2 +2x+2) = (X - 2x0)(X + 2%)
= X? - 4x°
= +2)2 - 4x?
=t +4x% +4-4x°

=x*+4 B

(3) E+ D +2)(x+3)(x+4) = (x+ D(x+4H(x+2)(x +3)
= (X +5x+4) (x> +5x + 6)
=(X+4)(X+6)
= X? + 10X + 24
= (x> + 5x)% + 10(x* + 5x) + 24
= x* +10x + 254 + 10x% + 50x + 24

=x*+10x* +35x* +50x +24 (&)

4) X+ DX +2)x-3x-4dH=x+DHx-3)x+2)(x—4)
= (x> -2x-3)x*—2x-18)
=X-3)X-38)
=X? - 11X +24

= (2 =2x)7 - 11(x* —2x) + 24
=x* — 4 + 4% - 1133 +22x+ 24

=x*—ax®-7x*+22x+24 (B

(%) (X =9(x+6)(x —6)(x +4) = (x = 9)(x + 4)(x + 6)(x — 6)
= (x> = 5x = 36)(x> — 36)
=(X-5x)xX
= X% - 5xX
= (x* = 36)* — 5x(x* — 36)
= x* =724 + 1296 — 5x° + 180x
=x* = 5x% - 722 + 180x + 1296 (&
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(o1 (1) (x+y)° = (x=y° = + 3%y + 307 +y° - (* = 3%y + 3097 — )
=X +3x%y +3x0% +y - + 3%y - 307 +y°
= 6x2y +2y° (%)

@) (x— y)3 +(x+ y)3 =x - 3x2y + 3xy2 - y3 + (x3 + 3x2y + 3xy2 + y3)
=X =3y +3x0 -y + X + 3%y + 307 +y°

=2x3 +6xy> (B

(101 (1) (x + )X = Y + xy + ) = xy +7)
= {(x+ ) = xy + YOIHx = I+ xy + D)}
= (7 +y)( —y)
=)’ -0
=x' -y (B

@) (pq - NX(P*q* + pqr + r*)?
={(pqg - (P’ + pgr + )}
=g -r)

=% -20°¢r + 1 (B

3) (x—y+z)(x2+y2+z2+xy+yz—zx)
=2+ (=) + 22 = 3x(-y)z

=3 -y +2+3xyz &

) (x = )G+ xy + ¥ + 10y +30)
= (@ =)+ 20y +50)
= X-VX*+XY+Y>
— X3 _ Y3
= () - )}
==y (&
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[11] (D)

@)

3)

(a+b+c)(a2+b2+c2—ab—bc—ca)
=a® + ab® + ac* - a®b — abc — cd®
+a*b + b® + bc? — ab® — b*c — abe
+d’c+b*c+c —abe - b - cta

=+ +c-3abec (B

(x—y—z)(x2+y2+z2+xy—yz+zx)
=X + (=) + (-2)° = 3x(=y)(-2)

=x -y -2 -3xyz &

(2 re Lo pg-L _L)
(p+q+3)(p TG P34 7P

-4 (4
P tq 3 pPq 3

3 3 1 ®
= + + — - S
p tq 27 rq (&)
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28 #Hekk (2)
s

(1]

(2]

(1) =21x%y%z + Tx*yz? — 14xy*z* = =Txyz(3xy — xZ + 2yz) (%)
(2) 2x(a + 2b) + 6y(a + 2b) = (a + 2b)(2x + 6y) = 2(a + 2b)(x + 3y) &)
(B) ¥ —dxy+4y? =(x-297 (B)
(4) 100x° + 180xy + 81y% = (10x + 9y)> (&)
(5) x*y* — a’b*c? = (xy + abc)(xy — abc) (%)
(6) 16x*> —49 = (4x + N)(dx = 7) €2))
(7 X2+ 5xy — 6y> = X% + (=y + 6y)x + (—y) X 6y
=(x=-y)x+6y) (&)

®) X2 = 14xy + 24y% = X% + (=2y — 12p)x + (=2y) X (=12y)
=(x=-2y)(x-12y) (&)

(1) 4x° + 17x+4 = (4x + D)(x + 4) (

(2) 4x* —15x—4=@Ex+D(x-4)  (

() 4’ +15x—4=@x-Dx+4) (

4) 4x* = 1Tx+4=@x-D(x-4) &)

(5) 4x*> — 16x+ 15 = 2x = 5)(2x = 3) (%)

(6) 4x* +4x-15=Q2x+52x-3) (&)

(7) 6x* = Txy — 20y* = (3x + 4y)(2x — 5y) (%)

(8) 20x% + 7xy — 6y” = (4x + 3y)(5x — 2y) (&)

(9) 8x% + Txy — 18y% = (8x — 9y)(x + 2y) €))
(10) abx*> + (a+b)x+ 1= (ax + D)(bx +1) (%)

~

~
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(31 () 1222 — 75y% = 3(4x* — 25y%)
=32x +5y)2x-5y) (&)

2 62> — 3022 + 36x = 6x(x2 — 5x + 6)
=6x(x —2)(x = 3) )

3) GBx-2)2-2x=3)%={Bx=2)+ 2x - D}HBx-2) — (2x - 3)}
= (5x—5)(x+ 1)
=S5x-Dx+1) &

“) (x+y)2—8(x+y)+15=A>—84 +15
=(A-3)(A-5)
=x+y-3x+y-5 (&

o) A o172 +16=A2 - 174+ 16
=(A-1)A-16)
=% - D(*-16)
=x+Dx-Dx+dHx-4 &)

(©) K+ dxy +4y7 —2(x+29) + 1 = (x +2y)* = 2(x + 2y) + 1
=A>-2A+1
=(A-1)

=(x+2y-1%* (&)

(4] (1) Xy+2x+3y+6=x(y+2)+3(y+2)
=x+3)y+2) &

@ pg+p—q-1=plg+1)—(g+1)
=(p-D@+1) (&)

€) K =97 —6y—1=x>—(9y* +6y+1)

¥ —QGy+1)?

¥’ — A?

(x—A)(x+A)

={x-Gy+ DHx+Gy+ D}
=(x=-3y-Dx+3y+1) (&
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“) K=y = = 2yz=x" = (P + 2 +2)
=2 - (y+2°
— 2 A2
=(x+A)x-A)
={x+ O +Hx - +2)}
=(x+y+2)x-y-2 (&

5) 22— a2y2 - bzyz _ az(xz _yz) _ bz(xz _yz)
= (& - y)(@ - b))
=(x+yx-ya+b)a-b) (&)

(6) (x2+3x+2)+2xy+4y=(x+1)(x+2)+2y(x+2)
=(x+1DHA+2yA
=A{(x+ 1)+ 2y}
=x+2x+2y+1) (B

(51 (M 27 +1 =G + 13
= Bx+ D{Bx)? -3xx 1+ 1%
=@x+1DOx*-3x+1) (B

) 8x° — 125y° = (2x)° — (5y)°
= (2x = 5){(2%)* + 2x X 5y + (5y)%}
= (2x — 5y)(dx* + 10xy + 25y%) (&)

®) Xy 42 = () + @)
= (xy + {(xy)? — xy X 2 + 2%}
=(xy+ 2@ —xyz+ 28 (&)
4) (x—y)3—z3=A3—z3
=(A-2)A2+Az+7)
= (x—y-Nax -y + (x=yz+27)

=x-y-?-2xy+y +xz-yz+z) (&)

> 2 +6x%y+ 12x7 +8y° = ¥ +3x 2 X2y+3Xxx (29> + (2y)°
=(x+2y)* &

(6) 27 = 108x%y + 144xy* — 64y° = (3x)° = 3 X (3x)% X (4y) + 3 X 3x X (4)* — (4y)°
=Gx-4)’ &
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(6] (1) X +y = +y)°’ = 3xy(x+y)
= (x + D{(x +)* = 3xy}
= (x + Y% = xy +y%)

LT

=x+y, =’ —xy+yt (B

@) =y = (x— ) + 3xy(x - y)
= (x = ){(x = y)* + 3xy}
= (x =)+ xy +)D)

£oT

=x-y, =xltxy+yt (B

3) X +y +2 -3z
=(x+y)° =3xy(x+y) + 2 - 3xyz
= {(x+y) + 2 = 3z(x + (x +y) +2) = 3xy{(x +y) + 2}
= (x+y+ 0+ y+2)7 =30y +yz +2x)
=(x+y+2)P+ Y + 22 —xy—yz—2%)

£oT

=x+Y, =x+y+z =Xxy+yz+2zx,
=x2+y2+z2—xy—yz—zx )
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(71 (M (x+ )2 = 3(x + Y)(x = y) + 2(x = y)°
= A’ -3AB+2B? [x+y=A x—y=B 5]
= (A - B)A-2B)

={x+y) - (= HE+y) - 2(x—-y)}
=2y(x+y—2x+2y)
==2y(x-3y) (&)

2 (E+2x - D2 +2x—5)+3
=(A-1)A-5+3 (P +2x=A L5
=A?-6A+5+3
=A>—6A+8
=(A-2)A-4)
=@ +2x-2)*+2x-4 (&)

3 x+Dx+2)(x+3)(x+4)-15
={x+ Dx+DHHx+2)(x+3)} - 15
= +5x+H*+5x+6)— 15
=(A+4)A+6)-15 (X +5x=A LB ]
=A2+10A+24-15
=A>+10A+9
=(A+1)A+9)
=P +5x+ D> +5x+9) (B

“) (x = D(x=2)(x=3)(x—6) + 12
=(x—Dx-6)(x-2)(x-3)+x*
= (x> =Tx+6)(x* = 5x+6) + x°
= (A - 7x)(A - 5x) + x* [ +6=AEB< ]
= A7 — 12xA + 35x% + ¥°
= A% - 12xA + 36x°
= (A - 6x)°
=@x*-6x+6? (&)
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(%) x=-DxEx-3)x-5x-7)-9
=(x—-Dx=-7)(x-3)(x-5-9
= -8x+ (x> —8x+15) -9
=(A+7)(A+15-9 x> —8x=A Lt 5<.]
=A2+22A+105-9
=A%+ 224+ 96
= (A +16)(A +6)
= (® = 8x + 16)(x* — 8x + 6)
=(x—-4*x*-8x+6) (&)

(6) (x+ D(x=5)(2 —4x+6)+ 18
=2 —4x-5(*—4x+6)+ 18
=(A-5)(A+6)+18 [ —dx=AtB<.]
=A2+A-30+18
=A’+A-12
=(A+4)(A-3)
= (x2—4x+4)(x2—4x—3)
=x-2x*-4x-3) *&

8] (1) X+ 2y +3)x+2Q2y+ D =(x+2)(x+2y+1) (%)
Q) P+ Q2y-Dx-22Qy+D=x=-2)x+2y+1) (&)
B) +x-0*=-5y+6)=(x+y—-2)(x—y+3) €))
4) 22+ (=Sy+ Dx+ (2> =5y -3)=QRx -y +3)x-2y-1) &)
5) X +5xy+Tx+6y> + 18y + 12 =(x + 2y + H)(x + 3y + 3) (%)
(6) 2x* =3xy+3x-9?+9y-2=2x+3y-D(x-3y+2) &
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(9] (1) X-73-8
=) -7x -8
=A*-7A-8 P =AtB]
=(A-8)(A+1)
= =-8)X*+1)
=x -2 +2x+Dx+DE*-x+1) (&)

&) 64x° - 729y°
= (8x°)* - 27y*)?
= (8x* +27y*)(8x* - 27y%)
= (2x + 3y)(dx? — 6xy + 9y»)(2x — 3y)(4x? + 6xy + 9y?) &)

<nllEg>
64x% — 729y°
= (4x7)’ - (9’
= (47 = (D) + (4x7) X () + (9y*))
= (4x% - 9y?)(16x* + 36x%y* + 81y
= (422 - 92 (16x* + 7223 + 81y* — 36xH?)
= (427 — 9D{(Ax* +9))* — (6xy)’}
= (2x + 3y)(@x? — 6xy + 9yH)(2x — 3y)dx? + 6xy + %Y (&)
3) (x=2y)° = (x +2y)°
=A-B [A=x-2y, B=x+2y £ 5]
=(A-B)A*+AB+ B?
= {(x = 2) = (x + 20)H(x = 290" + (x + 2))(x = 2y) + (x +2y)°}
= —4y()c2 —4xy + 4y2 +x% - 4y2 + 22+ 4xy + 4y2)
=-4yG3x* + 4y (B)
) %f +8y° + 2—1713 - xyz

(3] + e+ (3 -3(3)en (59
= (%x +2y+ %z)

1y Z(L)Z_L PSRN B U
X{(zx) + (2y)" + 33 2x><2y 2y><3z 3Z><2x

1 IV Lejari Lo o2, 1 )
(2x+2y+3z)(4x +4y+9z Xy = FYET X

%(3x 12y + 2z)%(9x2 T 144y2 + 422 — 36xy — 24yz — 620)

ﬁ@x + 12y + 22)(9x* + 144y + 472 — 36xy — 24yz — 62x) (%)
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5)  He3cad
=) +4x’ +4 -2

=2 +2)°% -4

= +2+0)X+2-2%)

=@ +x+2)(*-x+2) (B

(101 (1) a(b* — ¢ + b(c* — a*) + c(a@® - b?)
= ab* — ac* + bc* — a*b + d*c - b*c
=ab(b - a)+ (b —-a) - c(b* - a?)
=ab(b—-a)+ cz(b —a)—cb-a)b+a)
= (b-a)ab + ¢* = bc - ac)
=0-afalb—c)—cb-0)}
=(b-afa-c)b-c) (&

@) (b + )a® + (¢ + )b + (a + b)c* + 2abc
= a’b + d’c + b*c + ab* + ac® + bc® + abe + abe
=ab(a + b) + ac(a + b) + abc + ac® + b*c + bc?
=ab(a + b) + ac(a + b) + ¢*(a + b) + be(a + b)
= (a+ b)(ab + ac + ¢* + bc)
=(a+b)lalb+c)+cb+c)}
=(a+b)b+c)c+a) (B

€) (53 = (x+ D+ (x = D + 202 = 1)?
a=x+1, b=x-1&%5%¢L
= a* + b* + 2(ab)?
=a* + b* + 24°P°
= (a* + b*)?
ZIZT, a=x+1, b=x-1%21ALT
={(x+ D?+(x - 1D??
= (2x% +2)°
=4x*+1?* &)
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3% 2XE#H (1)
s

[1] 1) f(-49)=-4+12=8 (%)
@) f@=ag® (&)
f(p)=ap* (&)

S@Q-f®) _ ag —ap” _ a@+P@=p) _ 0o )
q-p q-p q-p

2] (D) y=ax+2) D7 I 7%, EMy=ax D7 T 7% x I 2P LAZLDOT
Ho. LIzhHoT, RODEM AL,

A(-2,0 (&
Q) y-3=a(x-3)Ey=a(x-3)+3 LA TES. ZOHEMILa DMEIZHI2DLT,
Xx=3DLXy=3%BLNDT,
AGB,3) &
3) HEXMN3 T, fH(7,4) 2 BLEMRIENDS,
y=3x-7)+4=3x-17
Ly=3x-17 €))
(4) y=3x*-2 (%)
) y=-20x-(-DP
=2(x>+2x+ 1)
= -2x* —4x-2
Ly=-2x2—dx-2 €2))

©) _1( 1)2_1

yEalty) oy
fred)-d
1 11 .,
y=?x2+?x—§ (&)
0 y={x= (=3P +6{x—(=3)}+7+3

=(x+3’+6(x+3)+7+3
=X +6x+9+6x+18+7+3
=2+ 12x+37

Ly=x2+12x+37 &)



(3] (1) y:x2+6x+8 Y
= (x> +6x)+8
=x>+6x+32-32+8 o
=(x+3)°-9+8
Ly=(x+3)7-1 3
Lo, \/O | x
D HFEXIE, x = =3,

JEAE, (-3, -1) &)

Xy=x>D7 7 7% xWHMZ -3, y#rhmc -1 720 FrBe L7275 7.

2) y=-x>+8x—18 A
= —(x* - 8x)— 18
= (x> - 8x+4%—4%) - 18

=—(x-42+16-18
Ly=—(x—4)7?-2
LT,

#MOHREXE, x =4,
Exld, @, =2 (&

Xy=-x>D7 T 7% x84, y# I 2 20 FRBEIL-7T 7.

3) y=2x2—8x+1 4
=2(x* —4x) + 1
=2 —4x+22-2)+1
=2(x-2-8+1
Ly=2x-27%-7

=Y

LT,

MO AERXE, x =2,
[EHi, 2, -7 (&) -7

Xy=2x> D7 T 7% x WA 2, yEHIANZ =7 2 PATRE L7 7.
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“) y=3x>+6x+3
=3(x*+2x)+3
=32 +2x+1-1)+3
=3(x+1)*=3+3

Loy =3x+1)?

LT,
MO HFEXIE, x = —1,
BEAlE, (-1, 0 (&)

Vi

Xy=3x>D7 T 7% x WHMZ -1 2 PTRE LT 7.

o) y=-x*+3x+1

=—(xX*-3x)+1

_( 3V, 13
Y (x 2)+4
LT,
. 3
#nHEKXIL, x = >
3 13
gt (2, =2 %
a8 c;t,( 4) (%)

Vi

Xy:—ﬁ®757%xﬁﬁﬁmény%ﬁﬁﬁ%%ﬁﬁ%ﬁ%ﬁbtﬁﬁj

(6) y=2x2+3x+4

LT,

i
S
3t
Ho
a2
=
=
1

|

|

Y

Xy =22 DT T 7% x WIS _% y BT 2?3 PSEATRE L7257
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(4] (1) y=xr+2x+5=(x+ 1) +4
L0, ZOMMBMOTERIZ, (-1, 4)
y:x2+4x+2=(x+2)2—2

LY, ZoBWEoTEER, (-2, -2)
SPATRENC X D THED (1, 4) 225 (=2, —=2) ~E - 72D T,

x®HTNC (=2) = (=)= -1 =a, y®EIHMIZ(-2)-4=-6=0b

TATRE L 722 LIl b,
foT, a=-1,b=-6 (%)
2 y=-22-8x+1=-2x+2)>+9
L0, ZoOBWEOTEEIX, (-2, 9)
y=-2x+4x+1=-2(x-1>+3

L0, ZoRWEOTERIL, (1, 3)
SEATRBENC L D TEEA A, 3) 25 (=2, 9) N2 T,

XxBARIC -2-1=-3, y#ARICI-3 =6 FTBHLLHD.
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45 2E#H (2)
il
(1] (D) ko 2HEAR, y=a(x-3)? -2 L BT 5.
B4, 5 % @505, x=4, y=5FHALT
S5=a(@-3)7*-2 La=1
Plk&y,
y=71x=-3%-2 (&)

MIFIIRROZWVERY . y=ax® + bx + ¢ DIRIZT B LEIT .

Q) #OFERS x=-1 X0, KoL HERL, y=alx— (D) +q BT 5.
H(=2,0) %dlizns, x=-2, y=0xf{ALT

O=a(-2+1)+q - a+q=0 @
H,3)E2#Lh0, x=1, y=3%fRALT
3=a(l+1)Y+q . 4da+q=3 Q@

@, @%Ejbfﬁ?‘\/\fy a:lY q:_l
UbXky,

y=@x+1*-1 (&

3) kKo rHHEXE, y=axr’ +bx+c & B<.
350, 4), (-1,3), 2,18) @5 M5,

4= O
3=a-b+c @
18=4a+2b+c ---®

O%@QIZRALT, a-b=-1 ---@

O% QIRALT, 4a+2b=14%1, 2a+b=7 ---0
@, @ x#ELTHNT, a=2, b=3

PlEXy,

y=2x>+3x+4 (&)



@) ko p X%, y=ax® +bx+c & BL.
3 (=1, =4), (1, =6), 4, 24) %@L Enb,

~4=a-b+c O,
—-6=a+b+c O]
24=16a+4b+c -
®-O &V, -20=15a+5b L —4=3a+b ---@
@-® &Yy, -2=2b Sb=-1.
Ihx @IRALT, 3a—1=-4 La=-1.
IhbE @ &y, c=—-4.
L&y,

y=-x*-x-4 (B

(5) kDL IHENUL, x#hE (=3, 0), (1, 0) TXbLHNE,
y=alx+3)(x—-1)

EBITA. H (-4, -1) @b H5,

—_—

l=ax(Dx(5) L a=-t
PLEXDY,
y=—%u+&u—n )

(FmemmLcemy e, y=-Lo- 2.0 3)

Y
[2] (1) ko2 HERIE, y=a(x-2)2+2 L BT 5.
O, D xEs2s, x=0, y=1%fA (2, 2)
|
1=a(0-272+2 .'.a:—% /]

UEXy,

y= —%(x—Z)Z 12

4-2



Q) kDL E, y=ax® +bx+c EBL.
3.3,0), (4,3), (5,8 &b Ens,

(5.8

“4.3)

0=9a+3b+c O
3=16a+4b+c @
8§ =25a+5b+c - ®
®-@ &,
5=9%+b ---@
@-® &,

3=7a+b ---0O

@, GO %ETLTHNT, a=1, b= -4
o2 OICRALT, 0=9-12+c¢ L c=3
DXy,

y=x*-4x+3 &)

(3] (D y:x2—4x—3
= —4x+4-4)-3
Ly=(x-272-7
Lo,

mAfE &L, ME-T(x=2) (&)

@) y = “2x2 —4x—1
= 2(x* +2x) - 1
=2 +2x+1-1)-1
= 2x+ 1) +2-1
Ly=2x+1DP+1

LT,
RAEL(x=-1), &IME &L (%)
€) y=x*—6x+11
=(x-37%+2

EEWTEDLND, f()=x—-6x+11 B &,
BRI, f(=2) = (=22 =6 x (=2) + 11 = 27
M, f()=12-6x1+11=6

RAEIE27Tx=-20&cF), WIMER6(x=1DEE) (B
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) y=3x>+6x-5
=3(x+1)-8
EETEDLND, f(X)=3x2+6x-5 B L,
AR, fQ)=3x22+6%x2-5=19
ML, f(=1) = -8
BAERI9x=20%), BMER-8x=-10%) (&)

®) y=2x2—5x+2
o 5V_ 9
—Z(x 4) 8

EERTEDLNS, f(x) =2 -5x+2 B L,
BAAE, £(0) =2

CYNGIES f(%) - _%

BAMER2(x =0 DE %), E%/M.aasc-% (x: %(Dt g) (%)

(©) y=-2x"+10x+3
_ofy_3Y) 3L
- 4x 2)+2

EETEDLND, f(x)=-2x2+10x+3 £ BL &,

ORI, f(%)z 3l

B/MER, £(0) = £(5) =3

%kﬁu%;(x=%®t§y RAMER 3 (x=0,508%) (%)
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(4] x 8 oS y L 0 72005, 2RZFRoORIZy =0 ZAL T x 2RoUT LW,
(1) y=x>=2x-3512y=0%fALT, x¥2-2x-35=0
INZRNT, x+5x-7=0%&b0, x=-5,17
Lo,

(-5, 0), (7,00 (&

) y=x2+3x-512y=0%2RALT, 22+3x-5=0

Nz,
3 32 -4 x1x(-5)
t 2x1
=3+ 129
- 2
$o T,
[—3—2«@’ 0]’ [-3+2«@’ 0] -

B)y=x2+4x-112y=0%fALT, 2+4x-1=0

INENT,
=2+ 422 -1x(-1)
X =
1
=-2+V5
£ o7,

(-2- V5,0, =2+ V5,00 (&

4) y=x2+8x+1612y=0%FALT, 2+8x+16=0
INEHNT, (x+4)2=0XD, x=—-4 (EH)
Lo,

4,0 &
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[5] (1) © LB Bz,

a>0 (B
@ #oFRER x = -ZL >0
a

U =2a(< 0) 2T T,
b<0 (B
@ x=0DLE, c=y>07205,
c>0 B

2
@ Tﬂrﬁ@y@%—bz—a““ 07T, a>0.

b -4dac<0 (B

® x=11xEThy=a+b+c>0 L&D,
a+b+c>0 (B

©® x=-11ZHIETSby=a-b+c>04L0,

a-b+c>0 (B

2
© T BRI, S,

a<0 (B

@ HWoOHRR x = -zi <0
a

=S =2a(> 0) & AT,
b<0 (B
@ x=0DLE, c=y<07Z05,

c<0 (&
2
@ Fo y it - 50T, a <o,
b —4dac>0 (&)

@ x=1IIeTby=a+b+c<0 L&D,

a+b+c<0 (B

© x=-11HIETDy=a-b+cH0END,

a-b+c=0 (B
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(6] (1) Wity =222 2 PATREI L7275 7 03 a, b % HWT
y=2x2+ax+b <o (%)
LEEDL. (02 (x ) =(,5), (3 19 FRALT,

5=2+a+b N0
19=18+4+3a+b @

O, @ ZHETEETHELE, (a, b)= (-1, 4)
INx () IMRA LT, RO 2 W0 F I

y=2*-x+4 (&)
(2) HHOEEIZFER t * AT, (1, —2t-3) BT 5. RKOLEMHBOFHFNIL,
y=xX>+x+1 ZFHTRBESE/7 T T %DT,
y=(x—-0>=2t-3 (%)
LBUDL. () WEEEEDLDT, (1)1 (x. y) =0, 0) ZFLALT
0=r-2t-3 =3, -1
) r=3% = IZKALT
y=&=37-9
= x> —6x
(i) 1=—1% (+) ITfEALT
y=(x+1)*-1
=2 +2x
(), (i) &0, kb 2wso AL,

y=x2—6x, y=x2+2x (%)
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(71 (1 X =22 +4x

=(x+2)° -4

LoT, 32x<3I1IBITSH X OAME, R/MEX
RAE 21(x=3)
=ME -4(x=-2) &)

Q) (HDXEHNT, y& X THET L,

y=X>-2X+3
=(X-172+2

(D&Y, B32xL3IZBNT, 4£XL21THEHDT, yld X =21 THRA X=1

TN D,

X=210r% (1) &Y, x=3.

X=10k %,
Ptdx=1 &= F+4x-1=0
Lx=-2+15
3<x<3E#EZ, x=-2+ V5.

PLEX D,
BRAE 402((x =3)
BME 2(x=-2+V5) (B
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8] (1) X2 +3x—4=00HUX%E D ELT5E
D=3"-4x1x(-4)=25>0

L0, dE oML 2 M
ZIT, *+3x-4=0%D,

x+dHx-1)=0 .. x=-4,1
PlEED,
HERIE2MET, ZOEEZIL, (-4, 0), (1, 0) (&)

Q) ) &Y y=xX2+3x-4 D77 7ZHDKD
Ik bhs,
y>0&%2h xOHEMIE, x<-4,1<x (B
y<0&2d xDHEMIE, —-4<x<1 &)

3) 2 &£y,

P43 x—-4>00E, x<-4,1<x (B
P 43x—-4<0DRIE, -4d4<x<1 (%)
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[9] EEE XY, 2k R ax® +bx+c=01%, 2 x=3,7%bD.
fit L RO E AW,

3:+7=-L . p=_104
a

3x7=%X Soc=2la
a

BRE y = ax* + bx+c LAy = p(x — q) £ DL IIE, 2 KI5
ax2+(b—p)x+(c+pq)=0
DFETHY, TZ2b==10a, ¢c=2la ZRALT,
ax’ + (=10a - p)x + 2la+ pg) =0 O,
By =ax®> +bx+c L HEMy = px—q) 220K EHE LD s, O OH I
Dr3BHE
D = (-10a - p)* —4aRla+pg) >0 ---@
@ DN, p DD SFHEICIE. % p OB f(p) &£ 2 NE,
f(p) = (=10a - p)* - 4a(21a + pq)
= 100a® + 20ap + p* — 84a* — 4apq
= p> +2x2a(5 - q)p + 164>
fPp>0XD, f(p=0DHRHN%E D £525&, D <0 THiLUTL .
D' /4 = {2a(5 - g)}* — 164>
= 4a’(25 - 10g + ¢°) — 4a” x 4
= 4d%(¢* — 10g + 21)
=4a*(q-3)(qg-T7) <0
a>0%Y, (q-3)(g-7)<0
LT,

3<g<7 &

—— 2 RARKOE L RHOBR
2URHBEX ax® +bx+c=0@=x0) D2 E% a, pLTHE,

=_b 4p-c
a+p= p a-f p
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